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eble quaal 2 J g cppail)

A= (-3) x (+6) ; B=(-5) X (+4) ; C=(-10) x (+9) ; D=(-0.2) x (+14); E=(-4.2) x 6 ; F=5.2 X (-20) ; G=(-9) x (-0.1) ;
Ai1=(-100) x (-12) ; B1=(-30) % (+0.1) ; C1=-3.5 X (+8) ; D1=(-2) X (+2) ; E1=(-10) X (+3) ; F1=7 X (-6) ; G1=5 X (-8) ;
A= (-9) X (-9) ; Ba= (-30) X (+6.1) ; C2= -2 X (+6) ; D2=(-3.9) X 10 ; E2= 65 X (-5.2) ; F2= 2.1 X 3 ; G2=(-3.3) X (-12.5) ;

As=44 X (-6) ; B3=(-3.2) X (-3.2) ; C3= 1.5 X (-4) ; D3=(-15) X 4 ; E3= (-1.1) X 17 ; F3= 2.6 X (-6) ; G3= (-58) X (-6.5) ;

s baad) jadl o | A0l Cielaadl e JS B LS (e ‘d'ml i padl)
A=(-5) X (-4) X (-5)
B=(-2) x(-2) X (-3) x (-3)
C=(-6) X (-7) X (-3) X (-2) % (-5)
D=2 X (-9) X (-6) X 4 % (-5)
E=(-6) X2 X (-4)x4x%x9
F=(-8) X (-8) X (-2) x 10 x (-1)
G=(-1) X2 x(-3) X 4 X (-5)

H=(-2) X (-0.1) X (-10) X 0.01 X (-8)

Dl ba a1 GuED ¢y el
A= (-6) + (+2) ; B=(-20) + (+4) ; C=(-10) =+ (-5) ; D=(-21) + (-5) ; E=81 + (-9) ; F=6 + (-0.2) ; G=(-6.5) + (-5) ;
Ai= (-12) + (-100) ; B1=(-30) + 0.2 ; C1=-3.5 + 0.1; D1= (-2) + (+2) ; E1= (-10) + (+2) ; F1= 25 + (-5) ; G1= 5 + (-2) ;
Az=(-72) + (-9) ; B2= (-40) + (+0.8) ; Co= -2 + (+5) ; D= (-3.9) + 3 ; E2= 65 + (-5) ; F2= 21 + 0.3 ; G2= (-33) + (-11) ;
As= 44 = (-4) ; Ba= (-3.2) + (-3.2) ; C3= 15 + (-4) ; D3=(-24) + 0.4 ; E3= (-1.1) + 0.1 ; F3= 2.4 + (-6) ; G3= (-156) + (-6.5) ;
P 1 PRV S S [PV |
A=(-32)+4+2-7x3
B=33-(3+2)+6.2-3.8
C=(8-13)+(13-(2+8x2))
D=42-(1-10.2)x4
E=-3x((-4) +(-2))
F=-4x(5-7)
H=(8x2-13)+(20-(2+5x3))
G = (-50) + ((-4) x (-7 - 3) — 16)




